
RELACIÓN DE EJERCICIOS DE REPASO.        TEMA 4: ESTRUCTURAS         TECNOLOGÍA 2º ESO 

1. In the following structures, which type of stress or effort bears each element? 

 

 

 

 

 

 

 

 

 

2. Match with arrows each structure to its group.  

 

 

 

 

3. Match each structure with its group: 

 

 

 

 



 

4. Write the group of each structure, reasoning your answer. 

 

 

 

 

 

 

 

 

 

 

5. Match with arrows each object with the stress that appears. 

 

 

 

 

6. Write the stress that appears in each situation: 

 

 

 

 

 

 

 

 

 



7. Write the stress that appears in each situation: 

 

 

 

 

 

 

 

 

 

8. Write True or False. In case it’s false, correct the sentence. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

9. Write True or False. In case it’s false, correct the sentence. 

 

 

 

 

 

 

 

 

 

 

 

10. Indicate which of these structures is rigid and which aren’t. In case they aren’t rigid, 

transform them to make them rigid. 

 

 

 

 

 

 

 

 

 

 


